Questions

1.2 Given: 2" +2"7 =-35y+20
1.2.1 Express 27 in terms of y. (2)
122 How many solutions for x will the equation have if y =—4? (2)
123 Solve for x if p is the largest possible integer value for which
2" +2™ = —5y + 20 will have solutions. (3)
Answers
L21 | 2% 42" = 53420
2°1+27) =-5y+20 .
( ) i v' 2" common factor
x  —3y+20
- = 5
- v’ answer
2P=—y+4
122 |Ify=-4
2" 42" =5y 420
27+ 2% =40
2*(1+2%)=40
2" =8 v’ substitution
2r =93
T v answer
x=3 Q)
123 |—v+4=0 vV _y+4>0
v=4
Largest integer value of y is 3 v y=3
2*=-3+4
X _
2 =
v x=0
x=0 {3)
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